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B.Sc. VI SEMESTER [MAIN] EXAMINATION

JUNE - JULY 2024
ECONOMICS

[Statistics for Economics]
[Major Subject]

[Max. Marks : 60] [Time : 3:00 Hrs. [

Note : All THREE Sections are compulsory. Student should not write any thing on question paper.
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[Section - A]

This Section contains Multiple Choice Questions. Each question carries 1 Mark. All
questions are compulsory.
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Q. 01

Q. 02

Q. 03

Q. 04

Which is calculated with the help of frequency diagram -

a) Mean b) Median

¢) Mode d) Ogive curve
SR R ) TR ¥ R TR A T & —

a) HHNR A b) HIETDT

©) IZAD d) i @k

If the value of median 1s 3 and arithmetic mean i1s 2, then the value of mode
will be -

gfe A1feasT o1 Hed 3 9 TR 91 2 2 T 98 qed 8N -
a) 3 b) 5
© 2 d) 6

In case of two variables there will be only one regression line, whereas -

a1 =R BT T H DA TS THHA Y@ BRM, SEAd —

a) r=0 by r= +1

¢) r=-1 d) r=+1lor-1

Changes occuring in the economic and business sector due to business cycle

are called -
a) Secasonal variation b) Cyclic fluctuations

¢) Random fluctuation d) All of these
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a) Y =R
¢) g IETd

b) LT ITEAA
d) SIRIET T4

Q. 05 There are 5 red, 3 yellow and 12 green balls in a bag. One ball is taken out
from the bag, What is the probability that this ball is yellow -
TP 9ol § 5 AT, 3Tl 9 12831 ] B UP Tig ol H W M@l o g
39 T & Ul 39 B T WS B -

a) 0.05
o 0.15

b 0.1
d) 025

[Section - B]
This Section contains Short Answer Type Questions. Attempt any five questions in this
section in 200 words each. Each question carries 7 Marks.
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Q. 01 What are the causes of distrust in statistics ?

TR o sifdeary & T R 2 ?

Q. 02 Prepare frequency polygon from following data -
frfefad wHel | emghy 9gqe 31 o PR —

Marks 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
No. of
Stiidents 8 10 12 16 22 35 20 18 14 10
Q. 03 Find the mode of grouping and analysis table -
AHRIHUT Ue fqecivu IR 9§ agaid sid S —
Wages 100 110 120 130 140 150 160 170 180 190
Moo 10 | 18 | 25 | 55 | 55 | 40 | 38 | 30 | 26 | 12
Persons

Q. 04 Define Geometric and Harmonic mean. Explain their uses.
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Q. 05 Define dispersion and explain its various measures in brief.
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Q. 06

Q. 07

Q. 08

If x=0.85yand y =0.89 x and o, = 3, calculate oy and the coefficient of
correlation.

e x =085y &R y=089xTd o, =38 Tl o, 3R Fdag TP S
BTy |

What is meant by Time series 7 State main components of time series.
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A question in economics 1s given to 3 students A, B and C whose chances of
solving it are 1/2, 1/3 and 1/4 respectively. What is the chance that the
problem will be solved ?

PJIR BT Uh weA o fEnfl A, B 9o C &1 four wirar 2 foFe gm
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[Section - C]

This section contains Essay Type Questions. Attempt any two questions in this section in
500 words cach. Each question carries 10 marks.
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Q. 09

Q. 10

Q. 11

What do you understand by 'Universe and Sample’ ? Discuss various
methods of sampling with their merits and demerits.
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The scores of cricketers A and B for 20 innings each are tabulated below.
Ascertain which may be regarded as the more consistent player ?

A T7 B fipde Raarfedl & 20 5T &1 R 4 foar 2 o 91 Raore
oTfers Hrg 2 °?

Score : | 50 | 51 52 | 53 54 | 55 | 56 | 57

Al 1 0 0 4 3 6 2 2

B | |1 b 2 6 3 4 2 0

The following marks obtain by 10 students in Hindi and English. Calculate
coefficient of correlation by Spearman’s method -

A 10 faenfeat @ 3= ud oSl @ Ui {9l M § | WERET @1 B
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Student : | 1 2 3 4 5 6 7 8 9 10

Hindi Marks : | 45 | 56 | 39 | 54 | 45 | 40 | 56 | 60 | 30 | 36

English Marks: | 40 | 36 | 30 | 44 | 36 | 32 | 45 | 42 | 20 | 36
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Q. 12 State and explain Fisher's ideal formula for price index numbers. Show how
it satisties the time reversal and the factor reversal test. Why 1s 1t little used

in practice ?
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